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X5 =X EIEYNE=S
EHH HA 202043 H (a) 20194 3H (b) (a)/(b)
= AFHH 1,743,897 1,779,247 98%
REFHH 445,205 470,141 95%
BERTFHH 420,616 447,938 94%
BEEETFHH 2,429 2,792 87%
ST HFRIFER 18,491 15,751 117%
5|51 -EHLF &R 149,429 183,368 81%
S5 -FTHLOmMKRFHH 229,168 213,389 107%
Z DD ZAFEHF 919,996 912,248 101%
fo—Ta T B 591,587 526,977 112%
BESZFN —T T 8% 83,501 85,755 97%
BHEEZEN—TooTE% 426,228 440,809 97%
FOMDRL—T 15 1B 81,830 24,346 336%
TR 901,341 875,376 103%
EREE|URE 85,387 94,507 90%
FiMEE 3 & EE G| U 309,090 272,047 114%
ST LE 358,231 352,211 102%
ZHESHFIF 36,546 42,791 85%
SZEFIE 45243 45,342 100%
= g 3,243,659 3,192,547 102%
+RE A 581,701 507,314 115%
ERmEIER 17,292 38,068 45%
REEI &R 185,765 170,586 109%
AiMEFEEREIER 318,579 253,997 125%
XILF B 49,791 57,191 87%
fiE EUN A 2,661,918 2,685,192 99%
RGEE-—REEE 2,311,627 2,325,090 99%
518 ®%RE 477,126 469,257 102%
ANGE 893,209 884,135 101%
TEERBRE 210,627 209,005 101%
BB 436,908 433,832 101%
RmEENE 112,266 105,266 107%
AR 50,443 50,092 101%
EXiEn 350,279 360,105 97%
EENES 25,979 40,850 64%
BEEE 376,266 400,952 94%
ERE A 19,660 A 5792 —
eI AT S EAMIE 356,780 395,149 90%
EANTRE 99,837 94,332 106%
EANTRERELE A 10,753 23,768 —
LHAfIE AT 267,667 277,007 97%
BREEREFESH 2% 58/86 56/88
L MERETFSH 2 61/86 64/88
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EE 20204E3A (a) 20194E3 8 (b) (a)/ (b)
RIETHFEH TES INART=WAT S 1,8528 Atk 93%
REE1BFEYTEENKSE 27,84118M 30,5201E M 91%
23 5t = = 920,354 8 Ak 987,397E Atk 93%
73 5t B * = 15,060,675{& [ 16,654,643{2 M 90%
= F 5t B = 773,024 8 H#k 842,526 F k% 92%
2 & B K = 12,177,189{& M 13,488,8061% M 90%
= 5t te = 81% 81% —
ZEOS>LERARSTES 1346548 189,297H 71%
ZADOSLEARSTERS 1,624,885{=M 1,711,142{8H 95%
ZEOS>HLIERIMSI KX 13% 13% —
1THEELEYZTRETERSE 1,575M 1,601M 98%
HEHEYMEREFRH 4,0074EM 4,284{8M 94%
R HE F R F HE M R 0.03% 0.03% —
CE) RRLFE=ZAFTERE-HLTEKE

BREZXFRHE=BRFRDEIIFEH - Z5x
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